Charge Area of the electron = photon eV

(((((1.352910249E-57 m)*2) / ((1.6161132e-35 m)*2)) / 13) * (((2 * 5)*2) s)) / ((1.6161132e-35m) / c) =
0.999999981

17((((((1.352910249E-57 m) / hbar) / c) / electron mass) / 2)*0.5) = 6.5248935 m kg / s

1.352910249E-57 m

(2 * electron mass * G) / (c*2) = 1.35291025e-57 m

(6.6774545e-11 m~*3/kg/s*2)/c*2/ (6.52485 kg m/s)/electron mass/5°3 =1

((((6.6774545e-11 * (((1/5) m)~3)) / (kg / (s*2))) / (c*2)) / (6.52485 ((kg m) / s))) / (electron mass /
(kg”3)) = 0.999999994 s5

1.6161132e-35 (meters / planck length) = 0.9999287396

https://photos.app.goo.gl/hwS73Pg69x76Y5v42

Photon transit channel = https://photos.app.goo.ql/C49aNNCBAEHYd2Ng1

Photon transit channel = 1/((x)*(7)*(y)*(7))*(1/6)

http://www.wolframalpha.com/input/?i=1%2F ((x)%5E(7)*(y)%5E(7))%5E(1%2F 6)

Compton_wavelength/c = (2.4263102367e-12 m/c) = 8.09329979e-21 seconds
(2.4263102367e-12 m/c)*2/(planck Length/c) / (13 * ((2 * 5)*2) s = 0.934600221
Mine = ((((2.5097669e-12 m) / ¢)*2) / (planck Length / ¢)) / (13 * (((2 * 5)*2) * s)) = 0.999999983

https://en.wikipedia.org/wiki/Compton_wavelength

((2.4263102367e-12 m) / c) / ((2.5097669e-12 s) / ¢) = 0.966747245 m / s



https://photos.app.goo.gl/hwS73Pg69x76Y5v42
https://photos.app.goo.gl/C49aNNCBAEHYd2Ng1
http://www.wolframalpha.com/input/?i=1%2F((x)%5E(7)*(y)%5E(7))%5E(1%2F6)
https://en.wikipedia.org/wiki/Compton_wavelength

https://en.wikipedia.org/wiki/Koide formula

(piM1.1111111111111111111111111*2A3*5A4)A2/c = 0.666659497 s / m
(pi*243*544)72/1.234567890123456789/c = 0.666659503 s / m
(2*5)D

https://goo.gl/74Rvk2 = Golden gnomon

(2/372 /572 * 11 *137.03599917272) = 1836.15569564224205814599
Fibonacci (2*5)D

https://en.wikipedia.org/wiki/Fine-structure constant

https://len.wikipedia.org/wiki/Proton-to-electron_mass_ratio

https://en.wikipedia.org/wiki/Penrose tiling

(((((1.35305488851E-57 m)~2) / (planck length”2)) / 13) * (((2 * 5)*2) * s)) / ((1 planck length) / ¢) =1

1.35305488851E-57 m = Electron SChwarzschild radius

(((1.35305488851E-57 m) / G) * (c*2)) / 2 = 9.11035744e-31 kilograms

9.11035744e-31 kilograms / electron mass = 1.00010691

(((((2 1 (372)) 1 (5*2)) * 11 * (13772)) + 1) * electron mass) / proton mass = 1.00002093

KronosPrime@ outlook.com

https://sites.google.com/site/fractalprimeuniverse/electron-charge-area



https://en.wikipedia.org/wiki/Koide_formula
https://goo.gl/74Rvk2
https://en.wikipedia.org/wiki/Fine-structure_constant
https://en.wikipedia.org/wiki/Proton-to-electron_mass_ratio
https://en.wikipedia.org/wiki/Penrose_tiling
https://sites.google.com/site/fractalprimeuniverse/electron-charge-area
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((40pi * (433494437/54870469331 *137))-136)70.125 +137 = 137.571576236
(54870469331 / (40pi)) / 433494437 = 1.00726856892

((1.0072685689270.5) * 10) + 137 - 10 = 137.036277043

9621716.9¢

433494437

96cv716.9¢




schwartz p minimal surface
cos(x)+cos(y)+cos(z) = 0

eA(-i X)/2 + eA(i X)/2 + eA(-i y)/2 + er(i y)/2 + er(-i 2)/2 + eA(i Z)/l2= 0




